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Entrance Examination

MATHEMATICS
SAMPLE PAPER

Time allowed: 60 minutes

Instructions
Calculators are NOT allowed. Youmay use a ruler.

Attempt all questions.

L ]

e Ifyoucannotdo aquestion,goon to the next one and try again later on.
e Do not ask the teacher to explaina question to you.

J efore the end, check your answers and then wait quietly in your place.
L

If you finish b
If you do not finish, or if you cannot understand all the questions, do not worry.

nis worth 1 mark. There

SectionA
e Youshould spend about 20 minutes on this section. Each questio

are 20 marks for section A.
Each question is provided with FIVE possible answers, only ONE answer is correct.

e Write the correct answer in the box on the right, if you make a mistake, rub it outand try
again.
Marks for each question are shownin

Section 8
e Youshould spend about 40 minutes on this section.

_ square brackets after the question. There are 40 marks for section B
s Write your answers and working in the spaces provided. DO NOT use extra paper.
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- 6. Bob
makes a3
in his Sequence usip :
S g the foIlowung rule:

€Quence js 5 ; {
» What wij| the fifth Number inclhoils‘l:Ie s ract 3’ f the fhae Gl
equence be?

B, Tk 4q) 35

A: 157
B: 77 A
G
19 5 E: 67 \ :
; T
What digit should replace the * below?
57 oy ol 9 :
—_— 2 6 i
5 7 8
B: 7 C:6 D: 5 E: 4 \
8. Two-thirds of a number is 66. What’s the number?
S ¢
St =
3 ¢
A: 100 9 C: 44 D: 33 E: 132 \ !

9. Femi takes 2 hours and 53 minutes to cycle from London to Reading. If he arrived at
3:21pm, at what time must he have set off?

SR i IR D ) D i
w A g2 08 Doy

A: 12:24pm B: 1:24pm @:ZSpm D: 12:18pm E: 1:28pm \

10. Two-thirds of a number is 3 more than three-fifths of the number. What’'s the number?

2 s g
,_\_%__. ) ] P =
> 5 <t 3 |5

Oz 45

A: 20 B: 90 Cohd D: 60 ( E:)45
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g T

Al

13, :mn-pof _é,t.ssmh_' e each and 4 bags of Nuttees atﬁaag‘ Jfﬂ* How
much change do | get from £10?

Qe I S5V A of)

A: £3.73 '.63 C £473  D: £463  E: £637

14.

Three different, positive odd numbers add together to make 23. What is the smallest

ible value of the largest of the three numbers? g e e
Eo.s;'s lu-;e3_}egme e\% ‘n . A 3L B '\13,'5,17) 19 23
B 9 4 o cl sy S G oF 7
< A':@ Ny

Poss :bl\ AN

A7 B: 9 11 D: 13 E: 19 loor @

O Nwory

15.  Atrain travels 80km in 24 minutes. How long will it take to travel 150km?
5‘)&.!.5'75580 ke = 24 min CiEsEeT

I56 K= +5 wyn Wh
e . 24 5 3=29
- A: 48 minutes B: -;-hdur C: 42 minutes D: 1 hour 5 minutes
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A: 140 ‘(\ :
& 4°° cm G L4y
: 140 mm D: 140000
14 mm E: 0.0014 km

17.  Fmthinki
Ing of a number, wh
original number. What's e nz':r:;::;le it and subtract the result from 70, | get half my

70 = Bog &b 7o ke

5 = 20
A: 24 B
: 30 ; ‘
D E 25

18. i
What is the area of the shaded triangle below? [Diagram not to scale]

35cm

= {8)tzsy
s 14

2cm 6cm
A: 42 cm? 4 cm? C: 28 cm? D: 245cm? E: 17.5cm?

19. How many different ways are there of paying exactly £1 using 5p and/or 10p pieces?
l

Sogict Begtr- YN 51|10
__thj_“\ W

A: 15 B: 10 c 21 1

en | double the first and add it to the second | get 160.
other. Which of these could be one of my numbers?

20. I’'mthinking of two numbers. Wh
One of the numbers is half of the

l—’c-w\: I¢o
lL’ Or l‘ __|_

=
D: E: 96 -
T G4

€ e o i1 2
¢4, 32 X
4—0) 20
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Section B
21. a) Work out 287 + 365
Answer: G5 2

b) Subtract -23 from -81

otter for the corre< =

» mistake, rub it ©

[1 mark]

utand t

4 about 40 minutes on
There are 40 marks

and working in the
SRS
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Mr
Humberstone's maths class ha

OW many girls ar, § i
(=) th 26 pu || .
ere? Plls. There are 8 more girls than there are boys.

b &
LT
¥ - b - l: Lo Pe
it e *
= q = 349
Yo
B= g
Answer:...‘.....7....
B T A [1 mark]

b) | i ’
a:‘drl rI‘VIlss Homes' r.naths class, the number of girls is three-quarters the number of boys,
ere are 28 children altogether. How many girls are there?

A=
2 b
9+b =2%
=
'%: L=t = ol §
7 . -
7}—11—25« 496! ()—-;UQ); Ek
Answerl’z [2 marks]

there are 5 girls for every 4 boys, and one-fifth of the girls

c) In Miss Thompson'’s class,
Is and two boys in the class who wear glasses. What

wear glasses. There are three gir
fraction of all the pupils in the class wear glasses?

B = 5. R
; OFf Gris
SAWRO Glosses
Y
3G,28
o (R o
563
515 (st
R
U‘Y\btr)
5
ANSWE: evon o eres s smssssmessssssssssmssmsssssssssesns 5 q [2 marks]

ins for my‘j 4 bbmj
() ¥

0 5(*\"1 bo\,‘\g _‘0..\0\)
=0 |7 0ta)
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"

t speed. He completes s laps

{ % & <
aps? Give your answer in minu;:;\' 4
E ah“

5 lopss 4 MinS
C lap= S Baming
® lap3fg.a mins

<& Cen) 2 RS

Answer:.z....NINS...24.. 58 < 5 NYS [3 marks]

b) Mr Aldham is also cycling around the track at a constant speed. He completes 5 laps
every 6 minutes. How long is it between the first time that Mr Sahota overtakes Mr Aldham

%n)d &?\e second g'[Pe t&a% Sahota overtakes Mr Aldham? 5 Adhota ( q\) {‘d 15 V)

5@@5}: ¢ MINS = leps= 4 ins
J v
fes, SPRS Fin o
e s i
<D Nds 5 Sﬂisr\e\g
LQM:7%+% Or Jor 0.8
\._/:J;-’
R®siRv-~
4 2 B AN | 44 26 spas
ﬂ"(l): 23% 5{(0‘\6‘5 (2 s .2?5{9 i

Answer%m"mzﬁ'se—iw\é\j [3 marks)



https://mymathscloud.com
https://mymathscloud.com

For each part of this question you sh

/\

24 ould try to find all the different possible answers. You
don’t need to worry about differe : e different possi :
ntorde iles — d is the
same as 3 beads, 1 bead, 2 beads. e rings of the piles — 3 beads, 2 beads, 1 bea
ep RESHES GK
a) | have six lde'nt.ical beads which | want to put into three piles. Each pile must have at
'—ew How many beads could be in each pile? One possible answer is given
to you. /Y Vst A
G+ boigs § | Suin o H I
d ni ’1 ?7 =
1%t pile 2" pile ‘ 31 pile > k{/‘g—
3 beads 2 beads 1 bead
5} 2 2
2 Op+ions ’
G [ l
[ . o ° (-] Z
RS hepe i} RS > 2

/\
2, 3 (Ponr)

{
| 2,2 2 I 1 12 marks)
M' 5104

i i in each pile.
b) List all the ways of placing eight beads into four piles, with at least one bead i p

One possible answer is given to you. /Q/, |) 2., 3, 4) 5} Q} K%’

. th i
20 pile 314 pile \ 4™ pile J

) bpnrl(
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(Diagram not to scale)

Ny
i A5

4 o N
3 1 Se-res LR, | Sy

| Sl ceg

.

(3 marks]
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start with a black y
iles. His patterns always ; Y
ck and white tiés: ( ‘

bla ‘
— - Jonny makes paterns featy pattel'nS-

a ‘ ¥ at the top. Heré are some of his
A El
6
2 R
I'w

C B

' : Sl
98 CWwW pattern 4

G Pattern 5 Pattern 2&/ | S Y e

blew=(s

J 3?
. in Pattern 3¢
a) How many tiles of each colour will there be in P

Black tiles: 4 .................................. White tiles: .eeseeereeees
J—— B b) How many black tiles will there be in Pattern 12?
l e = Vit o o s n =
Frre—— ‘htrqht(s\f 3 l, \) ) % 3) 3/ oy~ P% QVT\ D-@ X
> : N bla<le (tvess 5l g B
I : . ‘{"\FQL\SL 2 \) ‘) 2, D—) 3) 5 N BBt | vy,

y ' E
l: 42 .(l-§-1+.2+'2+3+3 [2\marks] &
DAY L31V7-T e SRR B SN ; !
: G 2 :

" X5 rectangle: HV\’UJ

/ L B (') Robin notices that he can take two copies of Pattern 4 and ma
b w

AT e e

'. )use Robin’s idea to work out the total number of tiles in Pattern 20?
5:15 i) WMGUL@  NynbEs
L S R (
| et
o\ ) AT ,>
Y |
5 (9% u,) 2% Dk

...... [2 markS]

20 D x 2) Fraonglk (423)
bv‘ 2 “+0 qﬁ:\ 'ﬂ’\L Pv\mm 420612 = 2%
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 There are equal numbers of big-e

There are three wuzzles with big
There are twice as many big
There are three times as m

e -eared greens

a;‘eart?d greens as big-eared pinks
Y pink wuzzles as blue wuzzles

How many of each kind of wuzzle

there in this household? (big-eared green, small-eared Breen,ys-eared pink, ...) are

% Ge=Gs O Gpig: s [ Ans
-’ Q‘B:QPB (2 Se 4R O Be
M a>e 2¢ d
33 2 o
G\BJ 190 B’ © BB
v D D 3 <4 pink
= Hee s Shra P [2 marks]
b)blnoano‘ttler%/uz?legjxfs\éhold, a|lofthesesta?e{mer%;are0{}'?g: e W ‘\2 r;ll (ON ™uiipis,

502P59\‘\vk13

There are the same number of pink wuzzles as green wuzzles 'S

There are twice as many big-eared green wuzzles as small-eared green wuzzles % @
There are the same number of big-eared green wuzzles as big-eared blue wuzzles

All but one of the wuzzles have big ears.

Lo

How many of each kind of wuzzle are there in this household?
O
@ Ge="2&%k
3 = Bs
@ only onw : \ :
! doIN hawe bigy SoEs, 1307 Ore S gy

= G el o
® 3 Otg = c+ f So ?;01 e ~/ [rmers
@_,_% ; ADs-
£ c_—ﬂ C=2 by @ ) = P, O pen
®=) c=p b= 2 2 e Ol
@ j-{ri-y_;:) 0\1o\: £y f \ 2 Qy \ e
. Qtd = 21 N A A
Sin c=2¢ %
‘i'n,o #(10 So ithuwdrﬁ bt O o\ = I &
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